


REARRANGEMENT 

OF SENTENCES



Given below are six sentences, out of which 

sentences A and F are in the correct position. 

Sentences B, C, D and E are in a jumbled order. 

Select the option that gives the correct order.



A. Folk tales offer lots of advice. 

B. Most of them deliver the message clearly. 

C. The reason was that he was not properly dressed. 

D. There is a story of Birbal not being allowed to attend the king’s free lunch. 

E. This happened despite his high intellectual abilities.

F. The advice thus conveyed is ‘Don’t judge a book by its cover.’

(A) ADEBCF

(B) ABCEDF

(C) ACEDBF

(D) ABDCEF



A. A young Brahmin came forward and bowed to the king. 

B. He gripped the bow and looked at the princess with a smile. 

C. His arms were powerful and did not seem to belong to a Brahmin. 

D. He was tall, dark with broad shoulders.

E. They were certainly those of a warrior.

F. Then he strung the bow evoking a thunderous applause from the crowd.

(A) ADCEBF

(B) ABECDF

(C) ACBDEF

(D) AECDB



A. Amina joined a two-year course at a local coaching institute.

B. However, she decided to opt out of the course at the end of one year.

C. When she asked for the refund of the fee for one year, she was denied. 

D. This was because of the poor quality of teaching at the institute. 

E. At the time of joining, she paid a fees of Rs. 60000 as lump sum for the 

entire course. F. Amina filed a case in the district consumer court.

(A) AEBDCF

(B) ADEBCF

(C) ABCDEF

(D) ACDEBF



A. When I woke up in my tent, I realised I was all alone. 

B. I asked him to be ushered in. 

C. My chest hurt badly from the hard blow. 

D. It was getting dark outside when my guard announced a visitor. 

E. I applied a balm to my wounds which eased the pain slightly. 

F. My heart thumped in expectation of the news of the war.

(A) ABCEDF

(B) ACEDBF

(C) ADCEBF

(D) AEDCBF



Given below are four sentences in jumbled 

order. Pick the option that gives their correct 

order.



A. She had never seen the like of it before. 

B. But her own earnings had been in coppers and 

nickels. 

C. She peered closely at the big currency note. 

D. She only recognised the fives and tens she 

had seen in other people’s hands.

(A) CADB

(B) DACB

(C) CBAD

(D) DABC



A. Ultimately, cotton was exported to Britain as a raw 

material for their textile industries. 

B. This was due to the availability of good quality cotton 

from India. 

C. The British were attracted to the cotton belts of India.

D. Textile industries in Manchester and Liverpool greatly 

flourished.

(A) CADB

(B) DCBA

(C) CBDA

(D) BDAC



In each of the following items some parts have 

been jumbled up. You are required to re-

arrange- these parts which are labeled P, Q, R, 

and S to produce the correct sentence. Choose 

the proper sequence and mark in your Answer 

Sheet accordingly.



Feeling flattered by praise of the fox to the piece of 

cheese (P) / the crow began to cow (Q) / it held on 

its beak (R) / unmindful of what happen (S)

The proper sequence should be:

1. SPRQ

2. QSRP

3. RSPQ

4. QSPR



There is that the woman is a kitchen-maid and (P) / 

the traditional belief (Q) / an instrument of man's 

pleasure (B) / a child-bearing machine (S).

The proper sequence should be:

1. QPSR

2. RQPS

3. QSPR

4. RSPR



The rapid endangerment and death of many minority 

languages not only among logisties and anthropologists 

(P) / with issues of cultural identity (Q) / is a matter of 

widespread concern (R) / but among all concerned (S).

The proper sequence should be :

1. PSRQ

2. RQPS

3. RPSQ

4. QRPS



Violence even before she is born (P) / and can happen 

throughout a woman's life (Q) / against women (R) / 

takes many forms (S).

The proper sequence should be :

1. RPSQ

2. PQSR

3. RSQP

4. SQRP



I saw two roads covered with the yellow (P) / directions 

in a forest (Q) / branching in two different (R) / leaves 

of autumn (S).

The proper sequence should be :

1. PQRS

2. PQSR

3. PRSQ

4. PSRQ



It is a process of global production in so far so it (p) / 

well-accepted fact that (Q) / brings  together the various 

factors of production (R) / international transportation is 

crucial to the whole (S).

The correct sequence should be :

1. QSPR

2. PRQS

3. QRPS

4. PSQR
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